
 

Czas: 30 minut 

Part 1 

 
Questions 1 – 5 

• Where can you see these notices?  
• For questions 1 to 5 circle A, B or C. Only one answer is correct. 

 

1.  A. on food 
B. in a restaurant 
C. on a book 
 
 

2.  

 

A. outside a theatre   
B. outside a supermarket  
C. outside a cafe 
   
 
 

3.  DO NOT FEED THE ANIMALS A. at a restaurant  
B. at a zoo 
C. at a police station 
 
 

4.   
 

A. at a language school 
B. at a travel agent’s 
C. at a hospital 
 
 

 5. KEEP IN A COLD PLACE 
 

 

A. on a book 
B. on clothes 
C. on food 

Nazwisko i imię Uczestnika Projektu  

Wynik testu  

UWAGI  

Ticket Prices: 
Mon- Thu Evening ₤59.95   
Fri Evening ₤66.95  

Lessons start again  

on the 5th January 

NO SMOKING 



Questions 6 – 10  

• For questions 6 to 10 choose the word which best fits each space in the text below.  
• Circle one letter A, B or C. Only one answer is correct. 

Secretaries’ desks 
 
Secretaries usually have a computer and a telephone on their desks. Secretaries' desks 
(6).................... often tidy. In fact, they are sometimes tidier (7).................... the bosses’ desks.  
Secretaries' desks often have pictures of children and (8).................... that they look at from 
time to time during the day. You will (9).................... find an agenda because secretaries need 
to make appointments. In the past, secretaries (10).................... usually women. Today, 
however, more and more men are becoming secretaries. 
 
6.   A. is  B. are   C. be 
7.   A. than  B. of   C. what 
8.   A. familys  B. families  C. famylis 
9.   A. but  B. be   C. also 
10. A. was  B. were  C. been 
 
Questions 11 – 20 

• For questions 11 to 20 choose the word which best fits each space in the text below.  
• Circle one letter A, B, C or D. Only one answer is correct. 

Unusual wedding 
 
A  Japanese company gives people the opportunity to have a wedding they will never forget. 
A Tokyo-based wedding firm, First Advantage, (11).................... couples a chance to get 
married in space. There are (12).................... people who want to get married in this way, 
although it is not cheap. A couple will pay $2.3 mln (13).................... a journey that takes an 
hour. A wedding dress, a wedding party and hotel rooms are also included in the cost. The 
bride and the groom (14).................... finish four days of training before they are allowed to 
fly into space. The space weddings are scheduled to begin (15).................... 2011, but the 
group will start accepting applications early next month. 
 
11.  A. offering B. offers  C. getting  D. gets 
12.  A. deal  B. lot   C. many  D. much 
13.  A. at  B. for   C. with   D. from 
14.  A. can  B. are   C. need  D. must 
15.  A. in  B. at   C. on   D. till 



 

Americans love their cars 
 
Americans are used to driving. They drive to work, to school and to family events. However, 
the rising cost of gasoline has (16) .................... many Americans to reconsider their 
relationship with automobiles. Gasoline is now about $4 a gallon and many people are (17) 
.................... their cars at home and are taking the bus or riding their bikes. (18) ....................  
high prices, people are limiting or cutting back on their travel or vacations. Some Americans 
plan to travel by train, instead of driving a car on their summer holidays this year. Those who 
continue to drive are looking (19) .................... cars that use (20).................... gasoline. 
 
16.  A. let   B. caused  C. allowed  D. created 
17.  A. staying  B. putting  C. arranging  D. leaving  
18.  A. Although B. In addition  C. Because of  D. However 
19.  A. up  B. for    C. in   D. after 
20.  A. less  B. than   C. more  D. worse 
 
 
Questions 21 - 40 

• For questions 21 to 40 choose the word or phrase which best completes each sentence. 
• Circle one letter A, B, C or D. Only one answer is correct. 

 
21. The class began their lesson .................... a short test. 
 
 A. as     B. by    C. with   D. in  
 
22. They spent a lot of time  .................... at the portraits in the art gallery.  
 
 A. looking   B. on looking   C. look  D. to looking 
 
23. Shirley enjoys science lessons, but all her experiments seem to .................... wrong.  
 
 A. come   B. become  C. go    D. end  
 
24. The children won't go to sleep .................... we tell them a story. 
 
 A. but    B. otherwise   C. unless   D. except  
 
25. Residents are ...................... because traffic in the area has increased and the area is noisier 
and more polluted. 
 
 A. blaming   B. accusing   C. complaining D. dening  



 
26. The red light ...................... 'Stop'. 
 
 A. regards   B. supposes   C. seems   D. means   
 
27. Hurry up, we're ...................... 20 minutes late. 
 
 A. already    B. more   C. quite   D. beyond  
 
28. We're having a lot of ...................... with the new computer system. It is not working 
properly. 
 
 A. fuss   B. trouble   C. worry   D. reaction  
 
29. That coat really ...................... Paul. It’s the right colour and design. 
 
 A. fixes   B. goes with   C. dresses   D. suits  
 
30. ...................... from riding a bike occasionally, I don't get much exercise. 
 
 A. Apart   B. Except   C. Besides   D. Other  
 
31. My parents divorced when I was five, and I ...................... knew my father. 
 
 A. nearly   B. hardly   C. not    D. almost  
 
32. We should have the test results back ...................... 24 hours. 
 
 A. by   B. within  C. before  D. under  
 
33. It was clear that the young manager was ..................... to take charge of the restaurant. 
 
 A. able   B. reliable   C. capable   D. responsible  
 
34. The buffet ..................... of several different Chinese dishes. 
 
 A. consisted   B. included  C. comprised  D. contained 
 
35. Have you ever considered .................... your job? 
 
 A. change  B. to change  C. changing  D. having changed 
 
36. Sales have been going up steadily and reached a .................... in summer months. 
 
 A. peak   B. apex   C. top    D. summit  



 
37. She is still getting .................... the death of her son. 
 
 A. up   B. on   C. over   D. through 
 
38. I suggest we ..................... lunch tomorrow at 8.30. 
 
 A. having  B. have  C. had   D. will have  
 
39. My comments were ..................... as a joke, but she took them very seriously. 
 
 A. pretended   B. meant   C. supposed   D. thought  
 
40. James was not sure exactly where his best interests ..................... . 
 
 A. lay    B. centred   C. stayed   D. rested 
 
 
 

Part 2 
 

Questions 41 – 50 

• For questions 41 to 50 choose the word or phrase which best completes each sentence. 
• Circle one letter A, B, C or D. Only one answer is correct. 

Valencia 
 
Valencia is one of the most popular places to visit in Spain. The city (41) ................... stiff 
competition from the resorts on the coasts and from Barcelona. Yet, Valencia has a rich 
history, an attractive old quarter and a revitalized beach area. Plenty, in fact, to make it an 
appealing tourist (42) ................... . In medieval times, Valencia was an independent kingdom, 
and the buildings in the old town (43) ................... its wealthy past. The regional government 
offices, for example, have rooms with golden ceilings, while the columns at the former silk 
market (44) ................... palm trees. Valencia is  famous (45)................... Las Fallas, which is 
a famous local festival held in March. La Tomatina, an annual tomato fight, draws crowds to 
the nearby town of Buñol in August.  
 
41.  A. confronts B. faces  C. holds  D. enters 
42.  A. venue  B. object  C. destination  D. sight 
43.  A. reflect  B. express  C. convey  D. identify 
44.  A. remind  B. recall  C. remember  D. resemble 
45.  A. from  B. about   C. for   D. of 
 



   Cutting down on smoking     
 
A recent cigarette advert showed only a picture of a motorcycle. Only one clue told 
consumers which (46) ................... to buy: the motorcycle was red, the colour of Marlboro. 
Such adverts may puzzle or bore most people, but they irritate anti-smoking groups, which 
(47) ................... that smoking is a health risk that should be prohibited. Next week, the 
British Parliament will vote on a (48) ................... on all cigarette advertising. However, there 
is no hard (49)................... that advertising has much (50)................... on total consumption. 
Whereas in some countries prohibitions are followed by a fall in consumption, in others there 
seems to be an increase in smoking.  
 
46.  A. marque B. model  C. make  D. brand 
47.  A. warrant B. argue  C. justify  D. defend 
48.  A. ban  B. sanctions  C. embargo  D. injunction 
49.  A. demonstration B. receipt  C. evidence  D. display 
50.  A. effect  B. affect  C. result   D. difference 
 
 
Questions 51 – 60  

• For questions 51 to 60 choose the word or phrase which best completes each sentence. 
• Circle one letter A, B, C or D.  

 
51. Motorists are ................... to avoid the city centre this weekend because of heavy traffic.  
 
 A. insisted  B. warned   C. threatened   D. announced  
 
52. By the time he has finished his week’s work, John has hardly ................... energy left for 
the weekend.  
 
 A. any    B. much   C. no    D. same  
 
53. Don't you get tired .................... playing computer games all night?  
  
 A. of   B. with   C.  by    D. at 
  
54. The comedy was so funny that we couldn’t stop .................... . 
  
 A. to laugh   B. laughing   C. laughed   D. to have laughed 
  
55. I .................... to other people borrowing my books: they always forget to return them.  
 
 A. disagree   B. avoid   C. dislike   D. object  



56. Italians are commonly .................... with good taste for clothes and fashion-consciousness.  
 
 A. met   B. related   C. joined   D. associated  
 
57. The film was so .................... I could scarcely take my eyes off the screen for a second. 
  
 A. clutching  B. clasping  C. grasping   D. compelling  
 
58. We're getting a lot of .................... about the job advertisement from potential applicants.  
 
 A. enquiries   B. investigations C. issues  D. wonders  
 
59. Complaints are .................... with by the customer services department. 
 
 A. dealt   B. supplied   C. serviced   D. attended  
 
60. I didn't use ....................  chips when I  was younger..  
 
 A. to eat   B. to eating  C. eating   D. eat  
 
 
 

 

 

 

 

 

 


